Balancing Chemical Equations

Balance the equations below:

1) N, + H>_ NH;

2) __ _KCIO3>__ KCI+__ 0Oy

3) _ NaCl+___ F;>__ NaF+___ Ch

4) H, + O,>__ HO

5) _ Pb(OH);+__ HCI>___ H)O+___ PbCl,

6) _ ABrs+__ KySO4>__ KBr+__ Alx(SOu)s

7) _ CHs4+__ 0O2>»__ COx+__ HO

8) _ CsHg+_ Oy>_ CO+__ HO

9) _ CgHug#+ 0, > CO;+__ HO

10) _ FeCls3+__ NaOH-> __ Fe(OH);+___ NaCl
11) P+ 0; > P20s

12) Na + HO>_ NaOH+__ H»

13) _ Ag.0O~> Ag + O,

14) Sg + O,>__ SOz

15) _ COx+_ H)O>_ GCgHi06+__ Oy

16) K+ MgBr->  KBr+ Mg

17) _ HCI+__ CaCO3;>__ CaCl+__ HO+___  CO;
18) _ HNO3+__ NaHCO3;> __ NaNOz;+__ H,O+__ CO;
19) _ HO+_ 0O,>_ HO,

200 _ NaBr+__ CaF,> ___ NaF+___ CaBr

21)  _ HySO4+__ NaNO;> _ HNOy+__ NaySOq4
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Balancing Chemical Equations — Answer Key

Balance the equations below:

1) 1N2+3H;> 2NH;

2) 2 KCIO; > 2 KCl + 3 O3

3) 2NaCl+1F;~> 2NaF +1Cl,

4) 2H;+102,~>2H,0

5) 1 Pb(OH), + 2 HCI = 2 H,O + 1 PbCl,

6) 2 AIBr3 + 3 K;SO4 = 6 KBr + 1 Alx(SOy4)3
7) 1CHs+20,>1CO;+2H,0

8) 1CsHg+50, > 3 CO, +4 H,O

9) 2 CgHig+25 0, > 16 CO, + 18 H,O

10) 1 FeCl; + 3 NaOH - 1 Fe(OH); + 3 NaCl
11) 4P +502> 2P,05

12) 2Na+2H;O->2NaOH+1H;

13) 2Ag,0>4Ag+10;

14) 1S3g+12 0, > 8 S0O;

15) 6 CO2+ 6 H,O > 1 CgH1206 + 6 O,

16) 1K+ 1MgBr->1KBr+1Mg

17) 2 HCI+1CaCO;3; > 1 CaCl, +1H,0+1CO;
18) 1 HNO3; +1 NaHCO3; > 1 NaNO; + 1 H,O + 1 CO»
19) 2H,0+10;~>2H,0;

20) 2 NaBr+1 CaF, > 2 NaF + 1 CaBr;

21) 1 HySO4 + 2 NaNOy 2 2 HNO, + 1 NaSO,
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